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Q.1. Fill in the blanks -

1) The transportation by railways become possible because of proper

2) The need of road is always related with

3) Indian railways are the largest network in

4)  Railway transport forms a very important part of

5) The ships dedicated to carry petroleum are called

6) The panama canal joins and

7)  The ships dedicated to hunt whole are called

8) The first jet drawn aeroplane service was in Oct 26, 1958.

9) InIndia, all important towns are connected with

10) These days aeroplanes fly above

Q.2. True/False -

1) All modes of transportation are interlinked. ( )

2)  Air plane is an invention of Wright brothers. ( )



3)

4)

5)

6)

Q.3.

d)

Q.4.

The steam ship was an invention of a single person. ( )

Man started travelling on water long ago. ( )

Improvement is road transportation started with the Industrial Revolution.

C )

Bye-pass and fly over hardly make any difference in traffic movement.

C )

Match the following -

Raod Transport

Waterways

Airways

Fastest mode of transport

Define the following -

Internet

1) Aeroplane

2) Helicopter

3) Jeep

4) Submarine




b) Metro

d) Engine

Q.5. Answer the following questions.

a) What were the problems faced by the ships sailing with sails?

b)  Whatis Mass Communication? Name four means of mass communication.




c)  Why ships trade is cheaper than the other modes of transportation?

d) How did early humans communicate with each other?

Q.6. Long answer type question -

a) What are the advantages and disadvantages of Airways?

b)  What are the advantages and disadvantages of Modern Highways?




c) Differentiate between personal and mass communication.




